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Lecture: 25
Chokore-to yori aisukuri-mu ga suki desu

Faal—hk KV TAAIV—L B FE TT
I like ice cream more than chocolate
Konnichiwa minasan,” =~ /1 6 1E %72 & /A~ and welcome to the class in the second
lecture series on Introduction to Japanese Language and Culture. So, in our last class we did
hou ga I¥ 9 7@k which shows preference. Now this time we are going to do
comparison and see how comparison is done in different ways in Japanese. Now as we

always do there is a small kaiwa -~ =550 for you listen to the kaiwa ~2>7(k) and then

I will do the explanation.

Also this kaiwa ~2>55@FE) that or I should say this lesson that we are going to do today is
also going to get continue to the next class because there is lots to do. So, this is the first part
of the kaiwa ~ 2257 k) or you could say the lesson and the second part will come in your
next class. So, well listen to the kaiwa =77 and then [ will tell you the grammar.
(Refer Slide Time: 01:14)

&=
= al
FaaL—bk &Y FARIY—L N FE TT

Chokore-to yori aisukuri-mu ga suki desu

@) sSo, you just heard the kaiwa ~Z>77#Fk) and I am sure that by now most of it is
understood as we have covered a lot of grammar earlier. Now there are a few things. So,

comparison in Japanese between A and B that is two objects or two people is expressed by



adding something to the noun. Now you have to keep this in mind that always noun is going

to be there before whatever word we are going to use for comparison.

The comparison is generally expressed by particles or adverbs and there are numerous ways

of showing comparison.

(Refer Slide Time: 02:27)

John: Senshuu no nichiyoubi ni doko e ikimashita ka?

Rao: Indo no tomodachi to isshoni onsen ni ikimashita.
Totemo tanoshikatta desu.

John: Doko no onsen desu ka?
Rao: Toukyo kara densha de ni ji-kan gurai kakarimasu.
John: Onsen wa hajimete desu ka?

Rao: Iie, mae ni nankai mo ikimashita. Demo, konkai itta
onsen no houga mae ni itta onsen yori tanoshikatta
desu. Futsuka kan soko ni ite, ochitsukimashita.

John: Yokatta desu ne.

So, now let us see how it is done. This kaiwa 255 is between John and Rao@ ). So,
senshuu no nichiyoubi ni doko e ikimashita ka.” 764 @ HEHIZ FZ -~ {7&F
L7z 7 Doko~ & = @) a question word for where, senshuu. -7t /@) is last week no
nichiyoubi ni doko e ikimashita ka7 HIEH 2 EFZ -~ {7&FL7= 77
Nichiyoubi ni.” HIEH @) is for day, ni~(Z@) is for day. Indo no tomodachi to
issho ni, 1> F & K/EH Ki#EE —#IC, to issho ni.” & —#FIZ@) together
with, onsen ni ikimashita.~ 35/ /4 12 {7& % L/-. @) So, the moment you put ni
/Zmre over here, then it shows that you went with a certain purpose and obviously, why do
you go to onsen. 35/ /7 a<@) tTo relax and to enjoy, totemo tanoshikatta desu.” * T
o D Lo/ T .E. So, you will see totemo.~ & T @) over here, totemo.”
& T®% we have done it in one of our previous lessons and to put emphasis which is also
very colloquial and only to be used when talking you will use fottemo. & > T & @)

double sound.



But not to be used with seniors, showing degree of the adjective tanoshikatta desu. 7= L
o 7e T, @H)this [ was very, very happy. Doko no onsen desu ka5 = @D A
/A T9 7@k which place no onsen.” D AU /A 2@ s So, onsen,” 5 /A A

@) are hot springs as you already know and the Japanese go there to relax, to enjoy, to

interact, to socialize and going to an onsen 754 /() is considered a big holiday. So,
toukyou kara densha de ni-jikan gurai kakarimasu,” K 76 EHHE T ZHFE <
50y 2000 FE 7@, now when you go to an onsen. 75 A1/ AFY there are lot of do's
and do not’s. So, you can look up the do's and do not’s of onsen.~"%5 A /A Fk) on the net.

What you are supposed to do when you go to an onsen 75 A 1 /A, @) what you are
expected to do and what you should not do. The, should not part is very, very important. So,
densha de " FEH# T by ni-jikan~ _IF[H], ni-jikan~ /i@y is time taken period
span, okay; gurai kakarimashita.” <"5 > 72720 % L /@) also we have done earlier a
number of times and gurai <" 5 | @) is used for approximate, amount, frequency or as in
this case time ni-jikan kakarimasu,” _FF[f] 202700 E 97 kakarimasu,” 77> ) F 7 @)
it takes. So, for example for kakarimasu.~ 77>V F 7, ikura kakarimasu ka V> < 5 7>
DD FEF

7~ 7, @F) mMeaning how much is it going to cost.

Dore gurai kakarimasu ka2 <50 000 FT @) approximately how
much kakarimasu ka~7°7>0 %7~ 7>>@k) | have done this earlier you can go over there
see in the lesson I am just revising so that you can understand gurai~ <" 5 | @) and ikura
1< 5@ the difference. Now jJohn asks, onsen hajimete desu ka5 /04 /4 458 7=
T T7 7@ is it the first time you went there? lie, no mae ni.” Hj 1Z,@E) earlier
nan-kai mo.” fijja] &, @) number of times. So, nan-kai.” 17/[a] nan.” iR is a
question word, kai /7)) when you add this counter for times something is repeated. So,
nan-kai mo_~17//f] @) when this comes together then it means number of times I have
been there earlier many times ikimashita.~ 77 & 3 L /-@FE).



Demo,” T, but konkai itta onsen no hou ga.”5[6] 1772 BAVTA D IF9
23, now you have done this, this is preference or comparison demo konkai itta onsen no
hou ga mae ni itta onsen yori,” Cb, 5A FiT-o/-/ BAVA O IF5 B
gii C Soliro/ BAYA L U@ so, this is what we are going to do.
Tanoshikatta desu.” 7= L 7>> /= T, it was better than last time it was more enjoyable.
Futsuka kan soko ni iteitte
, ochitsukimashita,” _H[f] +Z 12 17> T KEbE&ZE L/ So, futsuka kan,” "
H [#], futsuka,” - HEF) is two days, futsuka kan.~ — [ [(}dFE) is time, futsuka kan.~
/@) 2 days’ time period;=@¥) 2 days span, futsuka kan soko ni.” _H[f] <+ = I,
soko % Z over here@) refers to onsen ni itte.” 3547 A 12 17> T,@) 1 was there
and oshitsukimashita ~#5 > & & L /@) | was very, very happy and energized to come
back and work again. Yokatta desu ne.”J. 70>/ T 72,k that was really, really
great/=it was very good or it is very good yokatta desu ne.” J7>> 7=  T7 12, this

good that you went over there and enjoyed yourself.

So, now we are going to do various things that have come in the conversation. So, let us see

what those are.

(Refer Slide Time: 08:21)

2av: % O HEBR IZ £T ~ 7EFELE,

SF4: AUFD REE —#IZ BRIZ TEFEL=
ETH ELHHETY,

Tav: ECD BFRE TT M7

ZA4: ®TE Hb BET ZBRE <ol
hhyET,

P3r: BR & #HT TT M2

SA4: LR, B I GAMLL & TEFELE
TH, TADL 1Tof- BR O [EF5H
Bl Ly BR LY ELbh-oF= TY,
ZHRE %2 I WT., $BbIFFEL,

Ta>: Bhofz T h.

Before that you have kanji we are going to do this kanji, this kanji, this kanji, this one densha
S HEHL toukyou,” R, ni-jikan,” _FF[H], hajimete,” #]% T and ikimasu, 1T 9"
&F). Now let us see.



(Refer Slide Time: 08:37)

So, senshuu.~ 71, @) you have done sen.~ & @) as in sensei /4@ meaning
before. So, senshuu~JEEFE) put a doyoubi ~1-HE H @) put a kuchi~ 1@ cover it
like this and then this one. So, this-shews-this part shows that it is passing through it is going
through its continuing. So, senshuu.~ 754, shuu~ @) is weak, this is weak and weak is

from here till here. So, senshuu,~ /1 /3@ is last week earlier week so, senshuu,~ 7114 @)
Then we have tomodachi -4 @) this character means friend which is tomo A @k) and
dachi ~ @) make a doyoubi~1-hE [, ) make tatsu.~ /> @&k) then do this over

here and then again two and three so tomodachi ~ < @) continuation.

Now issho ni.~—#{Z@Fk) you have done issho ni~—7#|Z@) this one then, joining these
two this is ito.~ ~*@¥) which is thread and then we have sha @) which is person. So,
we join these two and make issho~—7&@)y and ni (@) together, this is ito FEFE)
as I just—New told you six stroke character ito~ #@¥) and this is sha 7 @) a person,
join these and make issho.~—/#¥). Then we have tanoshii 2 L\, tanoshii " L1
FB)—@F ) 1s if you break it, it is very simple if you do not it looks very difficult.

So, tanoshii.”ZE LV, tano.” @) and shi L) and iV @) this is what keeps
changing. So, 1, 2, 3,4,5,6,7,8,9, 10, 11, 12 and 13, it is a 13 stroke character. Then we
have Toukyou ~ #57 of course Toukyou.~ #57 you all know. So, I will make it over here 1,
2,3,4,5 6,7 and 8, 8 stroke character this means higashi~ # @) itself and the other



reading is fou~ 4 and then kyou @) is like this kyou 5 @k) which means capital,
tou” i@y and kyou ~ H@E). So, now what does Toukyou ~ #57 mean? Hf this means
capital, then, east of the capital is the new capital which is Toukyou ~ H 7 EE).

Kyouto.” 3£ was the old capital, kyouto.~ 5 Z5@E. So, east of kyouto@) is Toukyou,
east of the capital city is Toukyou.~ # 57. Now you have densha 75 #@¥) you have done
this, this itself is ame ], den.” FGd@H)then it is a 13 stroke character den ~ ithen and sha
" Hi@¥) already know this is kuruma -~ #@¥k) and sha.~ L >@I). Now you have ni-jikan
). So, ni-ji. @) you know time and two-hour time period or span;
ni-jid) is 2 o'clock. Hajimeru ~ /& 5@ ) you have done this kanji this onna no hito.”
LD A, onnano hito.” %A@ is like this, just this will be onna~ %@ and you make
a mu~ Ameve— over here, mu ~Ameove over here and kuchi.~ 1@ which makes it
hajimeru.” 14 & % @He).

Once again and kuchi - I 7@¥) over here and the last one is mae ~Fij, mae ~ Hjidk) is one,
two, three tsuki~H@¥ ) which is month and this mae ~Fiid) as in gozen ~J-HiidFE)
other reading is zen ~Fifd) in gozen”I-Hiid@). Lot of kanji’s over here I have put it
specially because you know the words and now you can learn the kanji it is simple you may

not be able to write all initially but at least you will be able to recognize them.

(Refer Slide Time: 13:58)

Yori — is roughly equivalent to than/more than in English. It shows
comparison between two things.

A
NiwaNejyori\ | Tadj | gesu ﬁ {f %‘J

N1 is more than N2 Na adj.
J l\ r

ookii / KELY ‘
chiisai / /pELY

kirei / Ehs A% E E-
nagai / LY e EQ\‘.
benri / @R 15 v T2

Kono enpitsu (N1) wa sono enpitsu (N2) yori nagai desu.
O ZAUD [ 20 ZAUD &Y R TY,

AkKai enpitsu (N1) wa Kiiroi enpitsu (N2) yori chiisai desu.
HhL ZAUD & FVBLY ZAUD LY hEL TT,




Now let us go back to kaiwa.~ =77 ¥). So, when comparing two or three objects or asking
choice or you want to show that a certain object or a person is greater than or more than the
other, then what do we use? We use particle yori /L ¥ @). Now yori~J. V@) means
more than or than and the pattern you can see very clearly is over here ‘noun 1 wa |7}
noun 2 yori.” . V@) adjective desu.”T7” thisnoun 1 is more than noun 2. Now how
will you use it? Just see noun 1 wa. |34 noun 2 yori ookii desu,” . V) K& TT
- dF)~this or chiisai desu,”/N& V> T or kirei desu,” X741V T, nagai desu,”
by T, benri desu 1##] T3 @) this is a nad) adjective all others are (k)

adjectives.

So, well very quickly we will do the kanji also. So, ookii A & | @) you have done this is
the character, chiisai /> V@) very simple, kirei.~ & 710 @) is a difficult kanji and

most of the time it is written in hiragana. So, you do not have to bother with the kanji at the

moment, nagai.~ /<l @) is 1, 2, 3, 4 and 5 and then like this and like this. So, nagai /<
@B so, 1,2, 3,4, 5,6, 7 and 8 nagai~ 4= @). Now you have benri~ 1% Fl, @) how
do you write benri -7 FIfFE)? Well hito.~ A @) then this over here and cut it like this and
ri.” ) @) is like this benri 1 F//@ ) convenient.

Just to give you practice just a visual over here of the kanji’s as you know the word. Now
noun 1 wa .~ |36y noun 2 yori.~ J: V) ¥y how will you show that it is big or it is small,
pattern is this you will see with yori . V) @) there are lot of examples this particle yori~
L V@) just shows that it is more than or is better than or just more in English, it is
equivalent to that. So, kono enpitsu.” = @z A U@ that is noun 1, wa sono enpitsu
ANt 2D 2 A0, =@ noun 2 yoriJ V¢ Fl)-@I) which is comparison nagai
desu 1=V T, this is longer than this one; this one is longer than this one.

You can also make simple sentences initially do not try to make very long and complicated
sentences, just keep it very simple and you will be able to make difficult sentences. As we go
forward akai enpitsu.” 750>z /A UNO,@2) now this one akai enpitsu wa kiiroi enpitsu
yori chiisai desu,” 75V ZATND (L ZFHAL 2AD LV LinEy T
7@ so, this is chiisai ~//> & I @ ). So, whatever you want to compare comes first.



(Refer Slide Time: 17:32)

|
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suki BFE like 724X
yasui A cheap % y—d-fz]é‘f
furui =1 A old ) A
futoi A fat
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Now all the kanji’s that are there till now in this lesson especially the adjectives have been
put over here with stroke order you can go over it.

(Refer Slide Time: 17:52)

Ni wa N2 yori Adj Hwek ;

kun wa Naruto kun yori futoi desu.

KB<A & H5BECA &Y KL TF

ofos 73
2 @
Yakisoba wa udon yori oishii desu. /&/ @

BEEZIE (£ 584 &Y EHLL TF, | A 1 ’-. ;7\3_j$ B3]

Tanaka sensei wa Morita sensei yori yasashii desu.

ks F FEAKXE LY ©ELW TY.

Basu wa kuruma yo 1benrl desu. ﬂ)é\‘ lﬁ /}(— )+ )¥

KRR X E &Y ﬁﬂ ey

Watashlwa\alsﬁlkun—mu ga Ke-ki yori suki desu. \%

X FARIY—L & 7—F &Y #FE TT,

Now you just new-did yori~J. ¥ @) with nouns; noun I wa.~ /4 noun 2 yori .~ J. V@)
adjective. Now what does that mean?: So, let us see Tarou kun wa.~ KXFS < A 14,
so, Tarou kun,~ KB < A is the@y noun, Tarou kun wa Naruto kun yori futoi desu,” &K
SA 1 ’2ESA LV K> T noun 1 wa 1Z@E) noun 2 yori futoi desu
S0 Ky T7@. So, you can see more examples and try to understand. Yakisoba
wa udon yori oishii desu,” & F|E 1L 5 FA LU FEHKLV T, yakisoba
A2 & /7@ is tastier than udon.” 9 &/ AFkE). Udon.~ 5 & /Fk) is thick noodles and



yakisoba 5> & Z 7@k is like this which is like our noodles or cooked noodles made dry.
So, now there is a small kanji over here like this; what does it mean? ¥t means fuzoi p A

&) which is fat.

Now this fiitoi ~ A I @) over here is used for people and atsui /2 @) is used for thick
books or something which is thick like noodles. Then Tanaka sensei wa Morita sensei yori

yasashii ~ desu  [HFIEA 13 FHHEAE LV PIL TTHEE  he s
kind/yasashii > L U -0 Sso, mori.~ #3@ ) we had done three ki~ /keys together is
mori.” 7k and field is called o~ ). So, when you join the two it becomes morita.~
%[, @) of course sensei /@) you have done I am just writing it again over here for
you that is all. Basu wa kuruma yori benri desu, /N X [|& H LD NAD T
@) we just new-did now benri~ # /@) in our previous slide, we will write it again for
you and cut it from here and then 1, 2, 3, 4, 5 and then 7i "%, benri - # I F) and kuruma
Hi@FE) is there.

So, kuruma .~ #4Fk) is very, very simple you just did with densha - # #Fk). So, you cut it
like this, this is the lower part it is showing a cross section lower part of the kuruma ~ ",
@) the base of the kuruma ~#@3). Watashi wa aisukuri-mu ga ke-ki yori suki desu.~
I TA X7 V=L PV —F LU 4fE  T7 @ so, this is all nouns noun
1, ice cream wa .~ |3@H) noun 2 yori.” J. ) @). So, now you know the pattern well and
you can practice with your partner. Now suki 4/ @) over here, you just—New did
onnano hito.” %A@ and then this is kodomo /{15 if you put it together it
becomes suki. 7 = @) which is that mother likes the child most.
(Refer Slide Time: 20:44)



ga futoi desu ka?
Ayori j. desu
A

Naruto kun yori Tarou kun@ futoi desu. u

Y N
HHECA &Y KEKA A KL T, )
L (g ‘Té' l

+ N

Udonvori yakisoba ga oishii desu.

S3EA £Y BEEZIE AT EBRLLY “CTa;D
N oo (e G4

Kuruma yori basu ga benri desu.

B LY nX A ER TY,

(o) B (1)

Morita sensei wa Tanaka sensei rasashii desu.

FHEXE T HPEE XU PSLL TY,

Now even when the order changes the meaning remains the same as you will see just now.
So, to understand it simply we can say that you just show preference with emphasis and how
do you do that?: Well let us see, 4 yori B ga.~AJ V) B3y adjective desu.~ T 7 #his. So,
the moment you put ga~ 7@ you are putting emphasis as you already know or can see

what you are saying; you have some knowledge.-F) So, it is a fact.

Naruto kun yori Tarou kun ga futoi desu.” 725+ <A L0 XKES A 25 K> T

7. So, now generally in exams what happens is you may get this statement and then the
question could be, what is the question for this statement?: So, well what are you going to do
over here?: What should be the question word,“be can someone tell me? tThat is correct, dare
ga futoi desu ka 773 AU T9 7@ why? Because we are talking about peoplex
$s0, it has to be dare. /=41, dare ga futoi desu ka.”7=4175 KV> TF 7? So, Naruto
kun yori Tarou kun ga futoi desu.” 705 <A LV KEESA 25 Ko TIEdB
or you can say kono hito ga futoi desu.” = A 7% Kl» T7@EE and you can
actually point say kono hito ga futoi desu.” = A 73 Ku> T, Udon yori
yakisoba ga oishii desu.” o EA LV X EIL 2 FEKLY TTEE. Now
what should be the question word? Well the question word is nani ga.” 721Z 7 @FH).

Nani .~ 7212 () because we are talking about things. Now kuruma yori basu ga benri desu
SH L) NX 8 (EF] T So, nani. 7212 again, nani ga benri desu ka.” 7212
23 EF] TT 2> or dore ga benri desu ka  EiL 3 (EF] TT @)



which one of the two benri desu ka~1#F] T7 7 ) convenient desu ka.~ T7"

2@ Morita sensei wa Tanaka sensi yori yasashii desu,” ZRH 54 14 HHPELE &
h X LUy TT So yori U compared to Tunaka sensei,” [H 55 /E, Morita sensei
R AE@R s yasashii, 57 LV @) over here also you will have the question word
dare 7= 416 or polite could be donata. 7 7z /=) for dare.” /= 71@). So, I am sure
this is very clear how to use yori~J V@) with nouns, 4 wa B yori~AlZBL V) @)

adjective.

(Refer Slide Time: 23:22)

A wa B yori st ga Adj. desu 34, ( M) a«w%\“

‘\]\ Ny
Naruto kun wa Tarou kun }‘ori@ sa jouzu desu.
T5EA 1T KBKA &Y I5TRE A EF TY,

*“‘@

<

Watashi wa chokore-to yori aisukuri-mu ga suki desu
X FaaL—+ XY FARIY—L A HE T,

* kirai / #5100
A wa B yori st ga ~ heta/ FF /~7=
suki / & ?*

Now we can also use it with na@) adjectives; 4 wa B yori~A/ZBJ. V&) something
na@) adjective desu 7, this-for example, you can see over here, Naruto kun wa Tarou
kun yori Furansu-go ga jouzu desu.” 725 &< A 14 KESSA L0 772 XGEH
23 Uk 979 T7@H. So, this is noun 1 noun 2 and the something is Furansu-go ga
jouzu desu.” 7 7> XiH 75 LUk 299 TI@H. For example okaasan wa otousan
yori ryouri ga jouzu desut FHEEIA 1F BXKIA LD FEE 5 EF TT
FB) or Mariko san wa Mira san yori ji ga jouzu desu,” £ 0+ A 1Z I 78A L0
N EFE S TI @ )i F is letters, ga jouzu desu.” 7S EF TIEHR). A
wa B yori AlZBJ V) something ga kirai desu.” 7% X 51> T or heta desu.” T
T something ga suki desu,” 75 4F& T Now watashi wa imouto yori niku ga kirai
desu . 14 4 L0 A 72 X500 TI:@ 1 do not like niku~ A or imouto
1@ likes niku ~ A@) more than me. watashi wa sensei yori kanji ga heta desu,” F



1% 4 LD JEF S FF T9@He) or watashi wa aisukuri-mu yori ke-ki ga
suki desu F 1+ TA X2 U—Ah LV L—F 3 4FEF TIEH). So, same
pattern practice with these patterns in mind and you will see that you will be able to do

conversation. Watashi wa chokore-to yori aisukuri-mu ga suki desu,”#, 1% F a3 3L —
r L0 TR U—=A Y 4FE T9@ 1 like you just now did the kanji suki
desu Af&  TTEH.

Now there is a kanji here heta. " | F, jouzu.” T, jouzu~ |- k) is like this you have
done jouzu |- ) earlier, isn’t ts=met=it; this is e~ 7k you are good at something
that is above average. Over here you are a little below average, you are unable to perform

with your hands that is you are not skilled. So, thus you have this kanji of shita.~ @) over
here and kanji of ue " @) for jouzu |- 7 and heta~ | F@¥). 1 am sure you are

also learning your kanji’s also jouzu |- 7@) is given here as well for you to see.
(Refer Slide Time: 25:41)

N1 wa Aj.1 yori Aj.2 desu.

a ringo wa yasui yori takai desu.
F)YAZ & PIL kY By TY,

R

Gakusei wa majime yori fu-majime desu.
FEF FH LY FEmE TY,

e

““_——n ————
Kodomo wa benkyousuru yori asobimasu.

FHtx BEdTS &Y BUEFES,

Ny V
Slzto \lrjla uchi nim‘?soto ni imasu. %

AlE R 12 W &Y 5 12 LwET,

@% RNy

Now in our last slide we learnt yori~"J. V@) with nouns similarly we can do it with
adjectives we can say ‘noun wa " /Z@k) adjective 1 yori~J V) @) adjective 2 desu.” T
7 this how is that done? Ima ringo wa yasui yori takai desu.” 5 VA= 14 &0 L
D EU T7 @) instead of being yasui %\ @) it is takai 5 V@), ima 5
@) is now. So, ima. 5@ like this and ~takai /57 @) is a very interesting kanji. In
olden times houses were only of one story because it was not easy to make the upper story

anyone who had a house which had two stories or three stories that was considered high.



So, in the house this is the window and again on top, this is the window or this is the door of

the house on the second floor and this is the roof. So, that is why takai /5 \ @), takai~
/5 @) means high. Now gakusei wa majime yori fu-majime desu,” 74 1% FL®

L0 SF LS TT. Majime”F U@ is hard working and fi-majime 5 F &
@) is not hardworking. So, whenever you have a fir~.5~ee somewhere in Japanese it has a
negative meaning; gakusei ~7/-@k) you can do this kanji also gakusei 7/, gaku %
@) and sei /- say-as in sensei - /E; gaku ~7#) means learning and sei @) is

a student or a person who is learning would be a student gakusei wa majime yori fu-majime

desu 7/ 1L F L& LV SFELCH T7 @k two adjectives used with a noun.

Then kodomo wa benkyou suru yori asobimasu.” 7t & #5325 L0 FHFHRE
7@ so, you would have heard people saying that a lot kodomo wa benkyou suru yori.~ 1
e 3 ik 95 ,@E) more than studying he is or she is always playing or they
are playing more than. Then hito wa uchi ni iru yori. -~ A |4 5 12 15 L0 &
now you see that it is with a verb and what happens with the verb? The verb will always be in
plain form before yori@) for comparison. So, hito wa.~ A |34 or Mira wa uchi ni iru yori
SI7 d x2S J V@) more than staying at home she stays outside and

the kanji for outside is this. This is also very interesting.

This part of the kanji means evening and this part depicts stick. What would happen in china
is that all these fortune tellers would come out of their houses in the evening put their sticks
over there and sit down to tell fortune. So, it is evening and then sofo~ ¥ @) evening and
then stick which makes it soto.~ = & @) outside the house.

(Refer Slide Time: 29:08)



N1 N2 o| V(dic )\ . muzuKashii / {3 ML
wa 0 ic form) \+ yori
PR kantan / A=A
suki / 9°& )'-D)y‘

y

Naruto wa Furansu go o hanasu yori Nihongo ga kantan desu.
GHEA IF ISURFE F 9 LY BERE B hAA TY,

Uchi de benkyou o Sul‘lg?'OI'i toshoukan ga benri desu.
K T #E 95 LY HEE N EF TT,

O
4 \
Hllor‘ku \} ori mlnnz.lklmashou ‘V\N/' @
T 7¢ &Y AALE T LWEELLS \
Hitori de tabetai yori minna to isshoni{tabetai. Vtu« [ Nf"""}

— A T =L &Y HAG & Lol B,

Now as I just told you, you can use yori.~~ J. ¥ @) with verbs as well and the important part
as you know already is that verb is going to be in plain form. So, how is that going to be what
are the example sentences well Naruto wa Furansu-go o hanasu yori Nihongo ga kantan desu
SRS E 1 T T RGE AT LY IZIFAT S DATEA TTED.

So, Naruto wa Furansu-go o hanasu yori Nihongo ga kantan desu,” 725 & |14 772X
it ahd L0 IZIEFAZ Y A c A T @) more than talking in France
go.~if~he prefers he finds it easy to talk in Japanese; kantan. 7>/ 7= /@) is easy;
Nihongo.” H K5k you already know there is a kanji over here which is hanasu. 757"
). So, I am also doing the kanji’s because this is basically a revision of all the kanji’s that

we have covered so far.

So, uchi de benkyou o suru yori toshoukan ga benri desu.” 5% T ## % 35 L
n KERE 2 XAV T uchi de benkyou suru yori FK T ik 5 L
) @) meaning basically more than studying at home library ga benri desu.~ 73 @4/
T9,@H) it is convenient. Hitori de iku yori minna de ikimashou,”— A T 17< LV
Bl T {r&FE Lk o @B So, again you have this hitori de iku yori— A T
77<  J V@) more than going alone let us all go together minna de ikimashou.~ %/
e T 17&F Lk o@FR)~@FE) So, now this de.” TEE) over here hitori de,”— A T
and minna de % /7% C@)~there—and mean this de~ C@) shows number please
remember when hitori de.”— A T futari de.” A\ T, san-nin de.” = A  TdE) is
used or minna de.” £ C@) is used the function of de~ Cthey is just to show the number



of people. Hitori de tabetai yori minna to issho ni tabetai,”— A T B0 LD
Bl ko I #3721, more than eating alone 1 want to eat with everybody. So,
tabetai ~ =~ 7= . @) you can see it can also be used with verb in tai /= @) form

which is want to do as the verb is saying.

(Refer Slide Time: 31:42)
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Now you can see ‘noun 1 wa~/Z@¥) noun 2’ yori.~J. V), watashi wa anata yori ~ #. 1%
H27= LV or Tanaka san wa Mariko san yori,  [HH XA 17 E£0VFZA L0;

@) then with verb is always in dictionary form. ¢Then ‘noun wa_ /7@ Al yori~J ¥

@F) A2 desu.~T7 'this. So, this is what you are supposed to remember.

(Refer Slide Time: 32:07)

N1 no hou ga N2 yori (adj) desu

\( Q— kuruma no hou ga ii desu ka? ““M—T %

Kono kuruma no hou ga ano kuruma yori ii desu.
O =0 F53H HD E LY LW TY,

T INY V) N VR G

Bucl» ga hanasu hou ga watashi ga hanasu yori ii desu.
BEH ET B> () B (ED &Y L0 raﬂ, W9

@ /
Yasai/kudamono wa yasui hou ga takai yori u/ureshu desu D

BRERAEED [ Z F538 50 &Y LLVELL TF
,4
/O-




Now there are different ways you can compare or show preference; one way to compare and

show preference or emphasis or suggestion is 4 no hou ga suki desu.”A @ (|5 ¥
4F&  T7@H) basically by using hou gaI¥ 9 7@k we have learned this in our
previous lessons ‘noun 1 no hou ga.” > |5 7@k noun 2 yori~ J V) @F) whatever
the adjective’. So, now let us see from the examples and revise hou ga.~ I 9 7@ ) with
yori,” = Y. Kono kuruma no hou ga ano kuruma yori ii desu,” = H. D [F5 7

b H LD Uy TH Kono kuruma. = @ Hi this kuruma no hou ga ano
kuruma yori ii desu,” " # D (5 5 oD H LD i TT:EE itis better
than this kuruma ~H#Fk). So, they are actually pointing at the kuruma -~ H @) and
showing this kuruma - #i@) and that over there.

So, now again what should be the question word? Dono kuruma no hou ga ii desu ka.~ &

B )Fo5 23 Wy TT 20?2 Kono kuruma no hou ga ano kuruma yori ii desu
S Hoo )FS N o HOLD e TTER showing your
preference over something. Then buchou ga hanasu hou ga watashi ga hanasu yori ii desu.””
iR 28 GET 1o 8 B 28 GEd LV Wy T9. Dare ga hanashita
hou ga ii desu ka7 73 FEL7= 1F5 2% Wy T9 20? Donata hanashita hou
ga ii desu ka " E7R7= 25 FELZZ XS5 2 Uy TI 20? Donata ERTE s
polite for dare.”7=#1. So@E) the answer is buchou ga hanasu hou ga watashi ga hanasu
yori ii desu.” FifZ 2% AT X0 2 O T LD iy T itis
better that buchou ~ i /<@ ) talks or gives a talk rather than me giving a talk. So, over here

please see the question words what the question words should be, these questions come a lot

and you need to practice them. Then yasai 5> i @) or you could say kudamono wa
yasui hou ga takai yori ii desu Ry 1+ &> IE5 3 EL L0 by T,
@B it is better if yasai -5 | @) which is vegetables and kudamono ~ F///@k) fruits
are cheaper than they are- takai /5 4.

It is good to buy fakai /57 ) things. Now there are again a lot of kanji’s I want to do
this kanji with you hanasu %5 7 @) which I did in my previous slide also, so hanasu. 5/

7 @) this kanji over here means it~ 5 Jyeu to say and this kanji here means shita.~ |



&) which is tongue. So, when you join the two you make you speak with your tongue
hanasu - 557, @) also it can be used as a noun hanashi 545 L @) is a tale or it could be
just a talk. So, please remember this one hanasu % 7 @). Now there is another one
watashi.~ @) which is simple 1 keep writing this all the time watashi~ 7@ means

I(FL).
(Refer Slide Time: 35:55)

No hou - When ga + adjective follows ‘hou’ then it is roughly equivalent
to ‘more or greater than’ in English.

i adj

N1 no hou ga na adj desu
Mira/35 wakai/ FHLY
Chicago/>h3 ookii / KELY
kuruma/E hayai / BL»
Nile kawa/F- LI nagai / &Y
kono michi/Z D& benri / {EF

So, now as we have done hou gaI% > 73@k) you can practice from here with your

partner at home.

(Refer Slide Time: 36:02)

Kitanai kara souji shlt.lga ii desu.< _‘— k,{;
EGWN D 5L LIz TES tﬁ WY T,
Okyakusan ga kuru kara soujl hou ga ii. 'f J\

EEESA B KD Mo FIL Lz 175 AT LW

(e
Okaasan wa ryouri o (Sukuru hou ga suki desu.//
BESA X BB % 55 7 2 HE TY,

o
‘Watashi wa ts uklf‘r/u_\\m! taberu hou ga suki desu. H =Sy @'
RiE 2 LU =% 5 A HE TT. Lr-n 7

Cmo—zis7 " (DS

Kita no hou ni itte kudasai / LD IFS5 [Z fToTLEEL,

Migi no hou ni magatte kudasai / HDXIZ #A>TZEN,

Houhou / [E31F5/ /& /}‘MM/W‘D‘W

Hokano houhou wa nai desu ka?/ A \® FE X LUy TT 2

Donna houhou o tsukaimashita ka?/ EA% AEk # ELELE i 7?

This you have done earlier if you remember we have done verb in ta /=@ form plus hou

ga 1% 5 B is not it. So, now look at this very carefully kitanai kara souji shita hou



ga ii desu” X7=7000 6 fabr L7z X5 25 iy T9,@E) it is better that
you do souji. - 9 @) which is cleaning and it is emphasis with past form is not it that is
what we did in one of our previous lessons last week. So, okyakusan ga kuru kara souji shita
hou ga ii desu FBEIA N KD 06 Fo5C0 Lz IF5 25 by T,
d)—this it is better that you do it again emphasis as it is in past form. Now okaasan wa
ryouri o tsukuru hou ga suki desu.” F5H-F S A 14 BB Z (ES 1Z5 73 4 &

T7 @) now there is no emphasis over here it is just a statement just that my mother likes

making food she likes cooking that is all.

That my mother likes cooking tsukuru hou ga ii desu.” 1ES 15 73 1O TT,.6FBD
she enjoys cooking, now see watashi wa tsukuru yori taberu hou ga suki desu.” % |4 1F
5 LV B (5 N T&F TIE. So, tsukuru yori 1ES  J ¥ more
than making I like eating again a statement. Over here kitanai kara souji shita hou ga ii desu
SEER s Fo 0 Lz IEo 25 iy T7EE) so, somebody else is
telling him that it is better that you do it over here watashi wa tsukuru yori taberu hou ga suki
desu “F. |4 (E5 L0 £S5 (5 75 FF T9,@H this just a statement

I am telling someone that I enjoy eating more than cooking unlike my mother who enjoys

cooking a lot both are statements. Now this word hou ga (% 9  7@k) you have been
doing for a long time the kanji for iou ga 1% 5 73@) is this one.

Now you have also done this kanji earlier as kata 7> /-@¥) or gata ~7)3 /-@k), remember
sensei gata.~ 5t/F- 7@ ). So, this means person but when /ou_~/% O @) is used like this,
what does it mean? Hou /% o @) means towards a certain place or in a certain direction.
For example you can understand from here kita no hou ni itte kudasai ~ 46 @ |15 IZ
77> T [ E0@B). So, you are looking for somebody doko ni ikimashita ka.~ = =
IZ {7&F L/=  2? Kita no hou ni itte kudasai.” 4t @ I1£5 12 70T </ZE&
V) or kita no hou ni itte kudasai 6 @ 15 12 7o T <7230 @ or kita
no hou ni ikimashita.” 46 & 1% 5 (2 17& F L= or hidari no hou ni ikimashita.~ 7=
O 2 {7E& E L -6 please turn towards; migi ni magatte kudasai 47 12 F
35T < /20 your left or towards the left side. So, fou /% 5 @) is towards in a

certain direction.



Now if it is houhou ~ 77/, @) what does that mean? First and foeremostforemost, let us do
the kanji this is kata~"7>/-@3k) and this over here is method. So, basically the meaning is
method, this is direction kita no.~ 4, @) towards. Now what does houhou. | 9 |F 5
&) mean? Method of doing a certain thing performing a certain activity. So, hokano o
houhou wa nai desu ka. > 2z G5 & vy TT 2?@) sSo, somebody is

telling you something and you are finding it a little difficult. So, is not there an easy method

or is not there another method to do it.

So, hokano .~ 1% 7> >@I)-ne other, houhou~|F 5 |F 5 @) is method or way, manner wa
arimasen ka 1% B» VD FEA  D¥Ynai desu ka 70V T9 @) is there another
way to do this; donna houhou o tsukaimashita ka. " E'A7% 1X91F5 & (EVF L

7> @) what is the method you used maybe you made something. So, what is the method
you used; what is the way in which you made this thing?: Donna houhou o tsukatte
tsukurimashita ka~EFA % IXE0I1F5 & E-oT (EVFEL/Z 7 @B what is the

method you use to make it?=

(Refer Slide Time: 40:40)
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Kono@ga benridesu/ 20 [E5 A EFH TY,

gayasuidesu/ Zh @ [F5 A ZLv TY,
$o1ea g

Kuruma del\iku/ (itta hou ga bengdesu.w

B T f1</o1= 1F5 Ly TY,

Konna /S()nmléga o mihai hou ga ii desy Mo "3
SATE A BEE HEL FES A LW TY,

Now there are some more examples; kono hou ga benri desu.” = @ [£5 75 (#F] T
7, @) this is a better way of doing it. So, somebody could be asking dono hou ga ii desu ka
SED IFS A by TT 9? Kono hou ga i desu,” =D IE D 73

T Kore no hou ga yasui desu,” Z41. @& 15 |+ %> T Dore ga yasui desu



5

ka i 25 Zy TT 23? Kore no hou ga yasui desu,” Z40 & 1F5 P &
LY T7,@¥) because this is for things so, dore. £ #1,;@¥) this is kono.~ =~ @, so dono.~
E' . @) Of course you can say dore no hou ga yasui desu ka.” 241 @& |5 75
Ty TI 22 Kono mono no hou ga yasui desu,”” =D %) D 1F5 73 L

T7 @) you can also answer like that using kono.~~ = @), Then kuruma de iku hou ga
benri desuH. T 17< X5 2% (#f] T7,@k) a statement but if you say
kuruma de itta hou ga benri desu.” H T {ro/= X5 2% (E# T79E&H. So,
you are suggesting over here, that it is better that you go by kuruma 5, benri ~ 1@ /(@) is
convenient, easy, comfortable. So, now you can also do konna = A/ 72, sonna eiga o minai
hou ga ii desu” A% BE % B2 (X5 75 1y T9E. So, you can
use one, konna eiga o minai hou ga ii desu,” = A 7% BEHE]  Z BV IEO 25
LY T7,@) this kind of, kind of; sonna % /A 7@y this type of or that type of eiga o
minai hou ga ii desu W 2z ZZ2V> IED 25 W TIEH. So, over here in
negative as well, suggesting to someone not to do a certain activity. So, this was hou /£
@) and houhou | E 5 |F O @) try to understand this use it a lot of times in conversation

look it up on the net as well.

(Refer Slide Time: 42:44)

gurai/gon?/ni M/ ) - Wf - /s~

Watashi wa Ehl;L haha@ denwa de hanashimashita.
Wiz - 55 B L ®E T Eﬁbilﬁfwm M

-

A
Watashiwa ichi-ji(ni/haha to denwa de hanashimashita. L,r 'T‘ﬁ
Ex —8 T B £ mtﬁLibfzo

[
Watashi wa ichiji@uram denwa de hanashimashita.
FoF —ERE <o & & T IHLELLELELE,

Watashi wa ichiji@ nemashita / fAlx —B 5 EFL=,

Watashi wa ichiji@emashita [ #iE —FIZ BFEL=, ! . u): U]

- =

Watashi wa ichiji@urai nemashita / falx —BE oL HEEL,

Then gurai. <51, goro.” = Z@ ) and ni /2@ you have done all are used for time.
Now what is the difference?: So, let us see this girl/-this person is on the phone. So, now let

us see watashi wa ichi-ji goro haha to denwa de hanashimashita,” #. 14 —HWF =5



FE 2k BHE T GFLELE Ichi-ji goro,” —IF T Ak meaning
approximately or around ichi-ji goro.” —/¥ = A@)-ge around this time plus minus 10
minutes or 5 to 7 minutes and de. C@H) is by. Then watashi wa ichi-ji ni haha to denwa de
hanashimashita.” % 1% —WF |2 A & HEiF T AL E L. so, ni 12
@) over here is again with time but exact time ichi-ji ni.~—/F |Z@) so, over here and

here exactly at 1 o'clock.

Then watashi wa ichi-jikan gurai, " F 1% —HFR] <60, ichi-jikan,”—FF @) you
can omit the gurai <5 @) also over here ichi-jikan gurai haha to denwa de
hanashimashita,”—W5fH <6y A & &Eitd T AL F L@ 1 talk to her
for one hour; time period time span one hour. If you add gurai <" 5 | @) over here then
approximately for one hour it could be five minutes more five minutes less. There is another

example for you someone is sleeping. So, watashi wa ichi-ji goro nemashita ~ 7. |4 —I¥
T4 JZFE L@ 1 slept at one o'clock approximately. Then watashi wa ichi-ji ni
nemashita ” F. |4 —IF |2 JZF L /- @) exactly at one o'clock one or two minutes
here. And there then watashi wa ichi-ji-kan gurai nemashita %, & —WFfE] <60
JZ F L /=@ this is for this time span for these many hours, for this much time I slept. So,
now you can see the difference between goro =5, gurai.~ <"5 @) and ni =, goro
T A@EE) is also used for frequency as I told you and amount and over here with kan /4]

&) for span of time.
(Refer Slide Time: 45:08)
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Now there are some similar looking kanji’s which I had promised to you in the beginning that

?ﬁ T

*#@E:{F

I

Vel

I will do. So, that your confusion is removed. So, I have this kanji over here all look very
similar. Now this is futoi~ A\ @) and this is; someone tell me inu~ A@FE) please you
are not supposed to cut it over here okay. So, it is like this like this over here inu~ AEFE)
once again inu~ K, futoi.” AU is fat, ookii A Z > and inu~"Ayew. Then we have
onnano hito.” % > A@ ) which you know three-stroke character this is yasui 7 | @)
meaning cheap yasui %\ @ ).

Now this character I just told you with kodomo 711, suki ~%# & @I)-is-@¥=) which means
like. Mother likes the child most; all similar looking kanji’s this is of course me " /1)
inverted eyet as you know. So, 90 degrees and it turns into me "~/ ;@) then you have nichi
" H@¥). Now over here we will take the simplest one first this is sen " 7sent which is
1000, this is like this ushi 4@ which is cow; then 1, 2, 3 and this is the difference. This
is gogo no go. I @ /@) which is noon and now we have this one 1, 2, 3, 4, 5 and

then 6 which is nen 4@ year.
(Refer Slide Time: 47:31)



Mira:  Ja, kore de shitsurei shimasu / C¥. Zh T %iLLFET.
Hana: MW =
a) Minasan ni yoroshiku/ moratte kudasai % 67
HATE 12 £BLL HHTR =&
b) Minasan ni yoroshiku = kotaete kudasai e

HATE 1= £BLL

) ?L_ Minasan to yoroshiku
HAIE & FBLL
Minasan ni yoroshiku

HAIE E EBLL

CF=AT <{fZ&ly

agete kudasai
HIFT F&EL

tsutaete kudasai \Zé'
EZ T =& /)"’/;
Ao =0

So, there are lot of kanji’s for you today most of it is revision you have covered these kanji’s
but still keep looking at them again and again and your visual becomes very strong. Now in
our last lesson we did this expression, shitsurei shimasu.~ [ -2710> [ % 77 1 have a small
question for you. Now let us see what it is. So, see this is a small conversation or you could
say there was a meeting and Mira@) and Hana@l) were there and Mira@) is telling
Zi T KFLL F 7@ or she is telling
everybody kore de shitsurei shimasu,” ~ i1 T AL L E 76H.

Hana; Ja kore de shitsurei shimasu,”~ U %

Now the meeting is over and she is leaving. So, Hana) what should be her answer; what
should she say? Jaa ne.” U %> 42, mata.~ 3 7-@) informal but now Hana@¥) says mina
ni yoroshiku -7 |Z J 5 L <@} and then there are four options. So, which is the
correct answer? Obviously this is the correct answer but why is this correct? See mina ni

yoroshiku ~#7 (Z J A L <,@FE) my best or regards to mina. So moratte kudasai” %
55T </Z&0 @ means morau.” b 5 o @) means receive. So, I cannot say best
regards receive; kotaete kudasai % < T < /2 &\ @) means answer; mina ni yoroshiku
LA5L<

kotaete kudasai 5 1Z Z/2x2 T <&@ please answer this is

also wrong.

So, then agete kudasai.~" =17 T < 7= &1, means please give; ageru.~ & (7 5@ is this is
the kanji for ageru 115, ue.” -FE—EFE)-S so, you give somebody. So, mina ni.~ £
(2, @) regards agete kudasai " 17T < 72 @) you cannot just say give them my



regards which of course works in English but it does not work over here. So, this is also
incorrect. Now mina ni yoroshiku tsutaete kudasai,” 5 12 LAL< xT <7ZFX
!, @) please convey. So, this is the correct answer tsutaeru” f= < 5@) group 2 this is
the correct answer. We will do these on and off in your lessons from now onwards because
these are the kind of questions that come in JLPT you will get enough practice over here.

(Refer Slide Time: 49:35)

Vocabulary
onsen BAEA hot spring
futsuka-kan —HME a period of two days
yakisoba PEZE fried noodles
majime FLH serious
fumajime ASFELY not serious
futoi EX A} fat, thick
yasashii Pl kind
houhou ES1FES method, manner
hajimeru BRHS to start
kotaeru CZ% to answer
tsutaeru 2kZ% to convey

So, well with this I would like to end today's class it has been a longish class but we have
done comparisons. We are going to compare other things as well in our next class and do
more comparisons. Till then do this very nicely try to use it in your conversation practice with
your partner and come prepared for the next class and then we will do more. Till then

arigatou  gozaimasu,” » V)3t 5 TXUVE T Mata aimashou F/Z RNEL LD
FE).



